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Question 1:    If 
1 1 4
2 3 6
1 1 2

A
⎡ ⎤
⎢ ⎥= ⎢ ⎥
⎢ ⎥− −⎣ ⎦

 such that 3IBAAB == , then find the matrix .B  

Answer:  1

2 1 1
5 1  1
3 3

1 10
6 6

B A −

⎡ ⎤
⎢ ⎥− −
⎢ ⎥
⎢ ⎥= = −
⎢ ⎥
⎢ ⎥
⎢ ⎥
⎢ ⎥⎣ ⎦

 

Question 2: 
If  A  is 33×  matrix such that 2A = −  and 1A−  exists, then find   12A− . 

Answer:  12 4A − = −  
 
Question 3 

If 1A− =
1 1

3 1/ 2
1 1/ 2

x
y

z

− −⎡ ⎤
⎢ ⎥−⎢ ⎥
⎢ ⎥−⎣ ⎦

is the inverse matrix of A =
1 0 2
0 1 3
2 1 3

⎡ ⎤
⎢ ⎥−⎢ ⎥
⎢ ⎥⎣ ⎦

 then 2 4x y z+ − =  

 

Answer:   2 4 4x y z+ − =  
 

Question 4 Given the matrices  1 2 7
1 4

M − ⎡ ⎤
= ⎢ ⎥
⎣ ⎦

  and  1 1 2
2 3

N − ⎡ ⎤
= ⎢ ⎥− −⎣ ⎦

 , then find the sum of 

elements in 2nd   row of ( ) 1−MN             

Answer:      33−  
 

Question5:  The solution of the system  
3 5 10
2 4 6

x y
x y
+ = −⎧

⎨− − =⎩
    can be given by 

 

A) 
4 5 5
2 3 3

x
y

−⎡ ⎤ ⎡ ⎤ ⎡ ⎤
=⎢ ⎥ ⎢ ⎥ ⎢ ⎥− −⎣ ⎦ ⎣ ⎦ ⎣ ⎦

 B) 
4 5 10
2 3 6

x
y

−⎡ ⎤ ⎡ ⎤ ⎡ ⎤
=⎢ ⎥ ⎢ ⎥ ⎢ ⎥− −⎣ ⎦ ⎣ ⎦ ⎣ ⎦

 

C) 
4 5 5
2 3 3

x
y

− − −⎡ ⎤ ⎡ ⎤ ⎡ ⎤
=⎢ ⎥ ⎢ ⎥ ⎢ ⎥

⎣ ⎦ ⎣ ⎦ ⎣ ⎦
 D) 

5 4 10
2 3 6

x
y

−⎡ ⎤ ⎡ ⎤ ⎡ ⎤
=⎢ ⎥ ⎢ ⎥ ⎢ ⎥− −⎣ ⎦ ⎣ ⎦ ⎣ ⎦

 

E) 
2 3 5
4 5 3

x
y

− − −⎡ ⎤ ⎡ ⎤ ⎡ ⎤
=⎢ ⎥ ⎢ ⎥ ⎢ ⎥

⎣ ⎦ ⎣ ⎦ ⎣ ⎦
 

 

 


